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MENTAL ABILITY TEST
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions.

l.

10.

Answers are to be bubbled only on the separate carbonless Answer sheet provided
to you. After examination detach the carbonless copy from original Answer sheet
& keep carbonless copy with you till the declaration of result.

Please write your Center Code & Seat No. very clearly (only one digit in one
block) on question paper. Before writing your seat no. ascertain it with Hall ticket.
Please see that no block is left blank or unfilled.

Example :

CENTRECODE |1 |1 (0|2

SEAT NO. MI3|3]1912|2|1[1]0f21(2]3

Please ensure that you have received Mental Ability Test answer sheet.
Total number of questions are 90 for this paper. All questions carry one mark each.
All questions are compulsory.

For each question there are four options given in question paper. Check for the
correct answer and bubble correct option from four circles given in answer sheet
by Black/Blue pen. Please do not write any answers on question paper.

Start answering from first question one after another till the last question.

If you do not know the answer of any question, do not spend much time on it and
pass on to the next one. If time permits, you can come back to the questions which
you have left in the first instance and try them again.

Utilize the allotted time for solving the questions in best possible way. The rough
work is to be done in the box given under each page.

Do not write anything except Center Code, Seat No. and rough work anywhere in
this booklet
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Q. 001 to 004 Directions: Find the odd term.

0o01. (1) TVX (2) BDF
(3) RPN (4) MOQ
002. (1) DL (2) CH
(3) DF 4) AX
003. (1) POCG (2) KLIZ
(3) BUDX (4) FQMV
004. (1) JLOS (2) GILQ
(3)  MORV (4) CEHL
Q. 005 to 007 Directions: Find the odd figure.
005. . T
l +* J) * * T >
(1) () 3) 4)
006.
(1) (2) 3) 4)
007. . .
() () 3) 4)
Space for Rough Work
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KNM : RFV :: SVC:?
(1)  YBK (2) ZNL
(3) XMK (4) HEX

PUNE : KFMV :: NIRA:?
(1) MRIJY (2) MIJHZ
3) MSIZ (4) MRIZ

EPKT :JSPW :: QBHE:?
(1) VEKH (2) VMEH
(3) VEMH (4) VGML

DGP: MNV :: MKD:?
() XSJ (2) WTK
3) YTK 4) ISW
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(1) 0 3.a0e. (2) 4 8.0e.
(3) 2 3.Qve. (4) 6 3.20¢.
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Q. 008 to 011 Directions: In the following questions there is a specific relationship between the first
and second term, The same relationship exists between the third and the fourth term.
Finding the relationship select the correct term from the alternatives given.

008.

009.

010.

011.

KNM : RFV :: SVC:?
(1) YBK (2) ZNL
(3) XMK (4) HEX

PUNE : KFMV :: NIRA:?

(1)  MRJY (2) MIJHZ

(3) MSIZ (4) MRIZ

EPKT :JSPW :: QBHE:?

(1) VEKH (2) VMEH
(3) VEMH (4) VGML

DGP: MNV :: MKD:?
(1) XSJ (2) WTK
3) YTK 4) JISW

Q. 012 and 013 Directions: Ramesh starts moving to North. He walks 6 km and turns right and walks
5km, turning left he walks 3 km. At this point he turns South and stops after walking

7km. Answer the following questions.

012. How far he is from the origin?
(1) Okm (2) 4km
(3) 2km (4) 6km
013. To which direction is he facing from the original position?
(1)  East (2) West
(3)  North (4) South
Space for Rough Work
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3. 014 50B 017 AL : FIOTON T3 WBOW

014. 4.9,25,49,?

(1) 81
3) 64

015. 2,17,5,12,9,8,14,?
( 5
(3) 13

016. 7,23,49,149,?
(1) 305
(3) 249

017. 6,22,46,78,7?
(1) 108
(3) 106

€ 03393 O3Rer, FTWOTIVF O LT ?

2)
(4)

2)
(4)

2)
(4)

(2)
(4)

121
100

15
22

301
204

110
118

S 018 00T 020 B : [0OT BTN, Ty PTFE BOOTONVOT LOTD T3 BOIROZLNT,

©T0 Boedon FENT BINVR GUZTNEI TR, TOIRF NPT SORD.
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Q. 014 to 017 Directions: Which number will replace the question mark in the given series?

014.

015.

016.

017.

4,9,25,49, 7
(1) 81

(3) 64
2,17,5,12,9,8, 14, ?
(1 5

3) 13

7,23, 49, 149, ?
(1) 305

(3) 249
6,22, 46,78, ?
(1) 108

(3) 106

2) 121
4) 100
2) 15

4) 22

2) 301
4) 204
2) 110
4) 118

Q. 018 to 020 Directions: Cubes of same size are arranged as given in the following figure, observe
the figure and answer the questions by choosing the correct alternative given below.

Space for Rough Work
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018.

019.

020.

DS B> P T ), FAD 3, HIY2 Borond IR 3F R

(1) 4 (2) 3
(3) 2 (4) 1

89003 AOBSD OB S, PINIR) PoTodRNIINT?

(1) s ) (2) 8
(3) 9 (4) 10

R0e00T BRTOFAD =082 VR0 FINYY, 3R D) FINTDY, YVTO3RNISHNC?

(1) 1 (2) 3
(3) 4 (4) 5

T, 02133033022 3238 : QT 81083 ©53,8000 QOCTFS R 971 B0t BINE LZTNERI TSR QNP0

021.

022.

&0R0.

58,801¢) 1 PTBRY B, w2
(1) 6 (2) 8
(3) 10 (4) 12

WPO3 2R e Josd, Ha?
(1) 9 (2) 10
(3) 12 (4) 13
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018.

019.

020.

How many faces of cube ‘P’ touch the faces of other cubes?
(H 4 2) 3
3 2 4 1

How many cubes are there in the second last layer?
(1 5 2) 8
3 9 4 10

Find the total number of cubes in the first two layers.

(1 1 2) 3
3) 4 4 5

Q. 021 and 022 Directions: Observe the following figure and answer the questions by selecting the

correct alternatives given below.

021. Find the number of squares in the figure.
() o6 2) 8
3) 10 4) 12
022. Find the number of rectangles which are not squares.
(H 9 (2) 10
3) 12 4 13
Space for Rough Work
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X,.8,0. 023 3033024 TRWE © 403, NEES, 00T, AW, WITES [IBY QICTD VRTO WIIF¥TT

023.

024.

g3 BB BVETT. QWOETY BN LB 08 WA NESed Q0.
WNTT AT JERT AT, CINFTe TOTENS HBREOD [0 WONEOD
Setodon WIE Boed BoBR BVEILROY, TMmwEY BodI BINeH

QUZTNT) LI,
BOTETT TOITO 03T BPETT?
(1)  2ex» (2) e
(3) @ (4) nses
NEREBT QBREOD FFD T IR 2TB?
(1)  =e (2) 2eRw
(3) RIe3 (4) oemo

3.3, 025 0ox 027 3ewE : BoLT BINYY, wFONY 0T VIF, N0 IRWERNG. Bt

025.

026.

027.

028.

TOINFODNTYCL 20T BOAAREOITY SR NMOONER  FOTBROTITT.
&3 oi@erg TOIREF O3 WTCAD.

CJ, KF, GL

(1) HD (2) PT
(3) RK 4) MV
KOM, AYC, HRJ

(1) FTH (2) YCW
(3) KPQ (4) CXW
IJ, CP,RA

(1) oOpP (2) MF
(3) DL 4) AQ

2,003 Toged? (PRDE REMOTE 3 52% ROTEME &ert 2333, PICNIC 33 5?% I3en
23030009

(1)  CINCIP (2) PNIICC
(3)  PCIINC (4) PCINCI
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Q. 023 and 024 Directions: Amit, Ganesh, Reena, Seema, Mahesh and Meena are sitting around a

023.

024.

round table. Amit is sitting left to Meena and Ganesh is towards right. Seema is sitting
opposite to Amit. Towards the left or right of any boy in consecutive position no boy
is seated. Answer the following question.

Who is sitting opposite to Mahesh?
(1)  Seema (2) Meena
(3) Amit (4) Ganesh

Who is sitting opposite to the person who is sitting to the left of Ganesh?
(1) Amit (2) Seema
(3) Mahesh (4) Reena

Q. 025 to 027 Directions: In the following questions a specific group is given from the given

alternatives. Find out the right term which matches the given group.

025. CJ,KF,GL

(1) HD (2) PT

3) RK 4 MV
026. KOM, AYC, HRJ

(1) FTH (2) YCW

3) KPQ 4 CXW
027. 1J,CP,RA

(1) oOp (2) MF

(3) DL (4 AQ
028. Ina certain code language the word REMOTE is written as ROTEME. How will you write the

word PICNIC in the same code language?

(1) CINCIP (2) PNIICC

(3)  PCIINC (4) PCINCI

Space for Rough Work
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029.

030.

031.

2,000 T0BedT LORODY WED 83 3e) 7826 &ert w3, FRI 8 32) Sert wdododnd?
(1) 12921 (2) 9186
(3) 12219 (4) 6189

2,000 A0Feds yPRODY, ARTI &3 32) 60 &ert 2ITT, e modeds oo DEVI 83

eﬁz& Iert 3To300009
(1) 40 (2) 67
(3) 63 4) 68

2,00 F08eds LRFONY D = 4 3083 DEAR = 7 278, e Toseds yowRodd HOTEL
35 B2) Tert TR0 ?

(1 12 2) 13

3) 14 4) 15

3. 3. 032 0053034 ZewdS 1 Bo0olT TINCQ, Rodne 2.0W0 DBF, Moo BZRTBRNT. Bk,

032.

033.

034.

TOIRECINTE 20730 TOIREFCIIEY SCIT MIOLT A0 TROTIZE. &5 OO

T30 BReHRD.
51,119, 85
(1 57 (2) 104
3) 131 4) 221
23,29, 37
(1) 13,15,23 (2) 17,21,29
(3)  31,37,49 (4) 41,47,53

10-35, 12-42, 8-28
(1)  32-80 (2) 24-84
(3)  20-50 4) 14-72

B3 FOITFN TN
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029.

030.

031.

In a certain code language the word WED is written as 7826. How will you write the word FRI

in the same code language?
(1) 12921 (2) 9186
3) 12219 (4) 6189

In a certain code language the word ARTI is written as 60. How will you write the word DEVI

in the same code language?

(1) 40 (2) 67

3) 63 (4) 68

In a certain code language D = 4 and DEAR = 7 then in the same code language how will you
write the word HOTEL?

(1 12 2) 13

3) 14 4) 15

Q. 032 to 034 Directions: In each of the following questions find out the term that matches the given

group.
032. 51,119,85
(1) 57 (2) 104
(3) 131 4) 221
033. 23,29,37
(1) 13,15,23 2) 17,21,29
(3) 31,37,49 (4) 41,47,53
034. 10-35, 12-42, 8-28
(1) 32-80 (2) 24-84
(3) 20-50 4) 14-72
Space for Rough Work
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3. 8. 035 00T 037 Bw: FYNS BE0dR0RD BINYY B3 TN DR, TTWOTY WHLNIZE. s

03s.

036.

ReRe ]

BROTE) B3 3B FFTE), B3, TOSIEOONS FB 03 53,8 2TOTTI 0LOTIRO
RN A <) @ ™ ed 3} Q) - <

QBEORO.
BB e
O A @
o o )
°
S vV O
VT SFIND
O S S Q
2 > < <
A O S
(1) ) ) (4)
B3 LFIND
O 7
VT SFIND

(1)

2

) (4)

B3 FOITFN TN
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Q. 035 to 037 Directions: In each of the following questions the question figure changes in a definite
way. Find out the correct figure from the alternative figures that replaces the question

mark.

035. Question figures
QA O
N U ?
5 vV O
Answer figures
@ S q
A O G
(1) ) 3) @)
036. Question figures
O ?
Answer figures
(1) () 3) @)
Space for Rough Work
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037. =3 genso
* J
+ ) X % + ‘)
°
D X
QUZT SFIND
% X *x X *x o+
(M 2 3) 4)
038. Reedd: e @@)L%éoja égiééoja@moja 3,32002) BT FEITT @omd@t@dd et éfa%wgd
S ENTY0T cdeeny TBEIRFOD SOD.
B3 &7 VT SFINW
\_/\/
) Q M O
(1) ) 3) 4
. 0. 039 =03 040 ZR23S: Neo, TOW, @3, TOTTD QWTD ﬁ%oﬁamﬁa%@. SEN BLRTZN
DQONR 138, LRAFS. Negodrt Bedh =0 WPITERY, LRA[OY, NeBd Y [oTTIR Wg,
BRROZS. FoLT, WY, WOTTD VFON FETO AT, R VTIO TeT [OBJ WRTHEE) BTOTROT
3T, NeTOY TBRTTIN QO WITEDY, LERIFH. TMRET B000T BINVT $UB3 WSCWO.
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23 []

NMMS-MAT-21-22 | VIII | M8 |




037. Question figures

* J
. D s : 2
([ ]
Y X
Answer figures
% X *x X *x o+
(D 2 3) 4)
038. Directions: Choose the correct mirror image of the question figure from the alternatives given
below.
Question figure Answer figures

o mmﬁ\fﬁf

(1) (2) (3) (4)

Q. 039 and 040 Directions: Geeta, Sujata, Ashwini and Vandana are friends. Except Ashwini all like
chikoo. Geeta does not like guava and banana. Geeta and vandana like grapes. Sujata,
Ashwini and Vandana all like guava. Ashwini loves eating guavas and bananas.

Except Geeta all like to eat bananas. Then answer the following questions.

Space for Rough Work

NMMS-MAT-21-22 [VIII [ M8 |




039.

040.

C3ROT EeRO RTO IV TERNT SRRIZS ?
(1) ne= (2) Rowome
(3) oz (4) @2

CBROT TOUR, BFOTT BEQNRW LBRRIZES?
(1) =% (2) Rz
(3) T (4) nezd

I B0. 041 3033042 2N : GRA O C U E 835 @BONV0T 0000 LRFPEE Bt BOTRTIMITT.
TOMOTT TR BINLT LVBTNTI) LBC0.

041.

042.

043.

& BWT BOFLPNRBY, WTOT SFOT BONER BEFFBRSODYED AT FWR0T CSRTYTO?
(1) 19 (2) 20
(3) 18 4) 15

& BT BRFOWOT HTBFOI LTS VONER eoF RS0, 0305 FRI0FE HoeeS WTFT?

(H o6 2) 15
3) 5 4 7

BoedRd: BoL3 WB ©57B00 AT VeOTYEI TSWow) Tet FETTS 20LOTRI, YVIT T E0DYOT
cden, BOIPE I SORD.

B3 &7 YT SFSNO

(1) (2) (3) (4)

B3 FOITFN TN
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039.

040.

Who loves to eat only three fruits?
(1)  Geeta (2) Sujata
(3)  Vandana (4) Ashwini

Who likes to eat all four types fruits?
(1)  Ashwini (2) Sujata
(3)  Vandana (4) Geeta

Q. 041 and 042 Directions: A meaningful word is formed from the letter G R A O C U E. Then

answer the following questions.

041.  Write the number in the alphabetical order of the letter which is at the centre of the meaningful
word.
1 19 (2) 20
3) 18 4) 15
042. Write the number in the alphabetical order of the letter which is second last in the meaningful
word.
(1 6 2) 15
3) 5 4) 7
043. Directions: Choose the correct water image of the question figure from the alternatives given
below.
Question figure Answer figures
(D 2) 3) “
Space for Rough Work
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X, 5,0. 044 0073 047 BAWE : IONS T MOTOER0.

044. (1) 15-40 (2)
(3) 24-76 (4)
045, (1) 133 (2)
(3) 515 (4)
046. (1) 200 2)
(3) 700 (4)
047. (1) 18-27 (2)
(3)  14-22 4)

18-56
12-28

326
429

500
600

16-24
12-18

T Bo. 048 033 049 2R3 : T oL, BTN H[ORE TOFUAN LOTD PIFE BO0WO FOTNTIMOTT.
©T0 Boedon FENT BIRVT TN LITAD.

1|2
3
4
516
048. 1 2908030 TOTO O3 ©oF WTIBT ?
(H 3 )
3) 5 4)
049. 3 20303 S0 03P 2085y IO ?
1 1 (2)
3) 5 “4)

(o)

B3 FOITFN TN
23 [}
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Q. 044 to 047 Directions: Find the odd term.

044. (1) 15-40 (2) 18-56
(3)  24-76 (4) 12-28
045. (1) 133 (2) 326
(3) 515 4) 429
046. (1) 200 (2) 500
(3) 700 (4) 600
047. () 18-27 (2) 16-24
(3) 14-22 4) 12-18

Q. 048 and 049 Directions: The following figure is folded to form a cube. Observe the figure and

answer the questions by choosing the correct alternative.

1|2
3
4
516
048. Which digit will be on the opposite face of 1?
(1 3 2) 4
B 5 4) 6
049. Which digit will not be adjacent to the face of 3?
(1 1 2) 4
3 3 4) 6
Space for Rough Work
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I 0. 050 3023 051 B : EeL, TOWSFT 1PTITE TNEE, [ORE ToFWRN SOIRTINON ST
3083 BCIRFONTYOT BReQRO.
050. =3egs UUZT SFIND
l
O | o O ® O ®
!
A A A A A
(D) 2 €) (4)
051. =3z UUZT &SI
I I I I
ﬁ A I I I I
26 Q I I (? I I
) I I I I
I I I I
& j I I \ I I

(1) 2 3) (4)
- 052 00T3 054 3238 : F9T Bt wTONY RRCYTT 0T BRRO. wHT I9T 3w TINemn
SVZONY 03Rer TOITF O SORD.

&
C: 0
(o]

w x y z a b ¢ d e

B3 FOITFN TN
23 []
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Q. 050 and 051 Directions: A transparent square sheet of paper is folded on the dotted line as shown
in the question figure. Choose the correct alternative from the answer figures as how
the paper will look when folded?

050. Question figure Answer figures

O 1 e o O, O O,
A . N N ~_

|
A | A A A A
(1) ) 3) )

051. Question figure Answer figures

ﬁ ﬁ | | | |

SRR

[ — [ — [ — [ —

(D) 2) €) (4)

Q. 052 to 054 Directions: Observe the pyramid of alphabet and answer the questions that follow by
choosing the correct alternative.

Space for Rough Work
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052.

053.

054.

mlxw, zyon, wvrq, ?
(1)  ihba (2) axpq

3) pqaz (4) xwij

biajz, efdgc, tusvr, ?

(1) nokzy (2)  axpyo
(3) cwrhg (4) abcde

nlykp : tgchr :: aijhc:?
(1) aypxc (2) evrwce
(3) jnoml (4) eflge

T 5. 055 302056 323 : T 2.0T3¢ FIFE B00RT BT ASCDYLI SFENTRI ERCOICHNT.

0ss.

056.

& STENG OCTFS [RR BOOWT BINeMN cder; YFTRTR), WIWD.

A D F

C E B
B C E

(@) (i) (i)

B ©303 2003 FRERNG whee cing egd athgs ?

1 C 2) D
3) E 4) F

=38 (i) 3 393 FFpena Soedd 03ne 973 2dozs ?
(1 A 2 D
3) E @4 C
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23 [}

NMMS-MAT-21-22 [VIII [ M8 |




052. mlxw, zyon, wvrq, ?
(1)  ihba (2) axpq

3) pqaz (4) xwij

053. biajz, efdgc, tusvr, ?

(1) nokzy (2) axpyo
(3)  cwrhg (4) abcde

054. nlykp:tgchr :: ajhc:?
(1) aypxc (2) evrwc
(3) jnoml (4) eflge

Q. 055 and 056 Directions: Three different positions of a cube are shown in the figure. Observe the

figure and answer the following questions.

A D F

C E B
B C E

(@) (ii) (i)

055. Which letter will be on the opposite face of B?
(1 C 2 D
3) E 4 F

056. In the figure (iii) which letter will be there at the base face of the cube?

(A 2) D
3) E “4 C
Space for Rough Work
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3. 8. 057 00T 060 2eeds 1 TINT T3odeomd BINY, BEIROT ©FT 0 QOB 9 B wodnY
Roge8 QI AP x DP = BBB 253, ®0003 FIriomn odeer; wodmne o

057.

058.

059.

060.

&0R0.

P 3 236 =) a0wROR> 7

(1 2
3) 9

A B35S 23 BBwR ?

(1 3
3) 5

B & 13¢5 o a3 ?

1 6
3 8

AP+ DP @ 23¢3 @m_')%?
(1) 54
(3) 68

2)
(4)

2)
(4)

2)
(4)

2)
(4)

64
74

D 8. 0615303062 BewdS 1 .00 WPTWIE BNDE SORT TIBCHN FTEH TIF $TFBODY
EREOFLINT. & TINT WEEPN BT Tert TEVTTI 0UITRI, ¥VIT BB

061.

FneHR0.

YUZT SFINO

(D 2)

3) 4

B3 FOITFN TN
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Q. 057 to 060 Directions: In a certain code language digit 0 to 9 are used for each Letter.
If AP x DP = BBB. Then answer the following questions by choosing the correct
alternative.

057. Find the value of P.
(1 2 2) 3
3 9 4) 7

058. Find the value of A.
1 3 (2) 4
SO 4 6

059. Find the value of B.
(H 6 Q) 7
3 8 4 9

060. Find the value of AP + DP.
() 54 2) 64
(3) o8 4) 74

Q. 061 and 062 Directions: The folded figure of square paper is shown in the question figure. If it is

unfolded what will it look like? Select the correct alternative.

061. Question figure Answer figures

(M 2) 3) (4)

Space for Rough Work

NMMS-MAT-21-22 [VIII [ M8 |




062. QS SFIND

() 2) (3) @)

B 30. 063 00T 065 ZALSS @ IINT TINYY, BRTOBOD [T HTEICDL SFINTY, 28T, Bowos
BT 9T DGO AOWOT TWURTIOR I SRLews! S$TENYY 2T, & Bowoy
ZreRi T W FFTE, 280T 0dper; TSRO SORD.

SRR

063. =3 Fenso

UUZT BTSN

(1) @) (3) @)
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23 []

NMMS-MAT-21-22 [VIII [ M8 |




062. Question figure Answer figures

(1) (2) (3) 4)

Q. 063 to 065 Directions: In the following questions there is a specific relation between first and
second figure. The same relationship exists between the third and the fourth figure
which will replace the question mark. Select the correct figure from the alternatives

given below each question.

063. Question figures

Answer figures

(1) (2) (3) 4)

Space for Rough Work
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064. ST SN

&l
N

et

@

)

Lq::: ?

(1) 2 ©) (4)

S
R

065. B3 wgened

%: ~r ::%: ?

UUZT BTSN
Ny e\ o\ Xy
2N N ZINT 2N
(1) (2) 3) “4)
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064.

065.

Question figures

O

y

Answer figures

S

(1)

Question figures

PR

Answer figures

A
/¢\9
(1)

(2)
N | ¥
VAR
W
/T\

(2)

@

R

3)

4)

&

o
ZINS
G)

Space for Rough Work

NMMS-MAT-21-22 | VIII | M8 |




3. 8. 066 00T 068 BetdS : ITNT $ZIODY,, 1PTT nedeey BOFRIZT, e 07,8 2oy BOFATT.
GO BT VITR Iy, WEFAIT, JIoFY VW BoLWTONTZY BEFAIT.
TMRTT TIROT UFTNTI) WI0.

G

I
H
Al B
K E C|D F
J

066. 3FZ® Nned2 33% m%o%?odon o= @gd@ocﬁ TOHERTNS ?
(I G 2 C
3) H 4) E

067. 2 IRODNTE 3%@ ab%oﬁfojaqu o3 @ﬁpaod TEEZeRNS 9
() B 2 A
3 G 4 C
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Q. 066 to 068 Directions: In the following Venn diagram square represents a mathematician, a triangle

represents the persons expert in Sanskrit, a rectangle represents the persons who are

expert in History and a circle represents ladies. Then answer the following questions.

G

I
H
Al B
K E C|D F
J

066. Which letter represents lady mathematicians?
() G 2 C
3 H 4) E

067. Which letter represents ladies who are expert in all the subjects?

() B 2 A
3 G “4 C
Space for Rough Work
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0 V0
O TAO
70 Y0

\O CAO

O QYO
A\O CAD

0 QYO
\O CAO

O QYO
\O CAO

0 QYO
\O CAO

O QYO
\O CAO

0 QYO
\O CAO

O QYO
\O CAO

0 QYO
\O CAO

O QYO
\O CAO
0 QYO
\O CAO
O QYO
\O CAO
O QYO
A0 CAD

0 QYO
5O TAO

068.

BeR© VETOR 33;@ doaoeﬁododa’% o3 @id@od BRCOTEPNT ?
(1) E (2) F
3 1 4) H

T 80. 069 033070 AW : F00DT FHEIT 03N B STBCWOT SRCOILD WIS 2

069.

070

@IBT*, 038, PR,

© Q- @

(1 2 3) 4)

3837030, Tod E33MDTTD, €5eD3.

© Q- @

(1) 2 G) (4)

B 0. 071 302 072 3w 1 LFTNY ©ODWT BooRI0 RoedoT e, IIRTY, cdnes 2FIND

071.

3BT @omdﬁiwm;oﬁade@od 230200.

—WX—-p—-XXpP—-XX—W-X
(1) xwpxpx (2) xXpwxpw
3) pxwwpx 4) pwxpwx
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068. Which letter represents ladies who are expert in History?

(1) E
3) 1

(2) F
(4) H

Q. 069 and 070 Directions: Select the correct Venn diagram from the given alternatives to represent
the following element.

069. Doctor, Reader, Gents

© Q- @

(1)

2 )

070. Players, Hockey players, Authors

© Q- @

(1)

2 €)

(4)

(4)

Q. 071 and 072 Directions: A rhythmic arrangement of alphabet is given, the missing letter appear in
the same order as in one of the alternatives given. Select the correct alternative.

071. —~WX—pP—XXpP—-XX—-W-X
(1) xwpxpx
3) pxwwpx

2) xpwxpw
(4) pwxpwx

Space for Rough Work
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072.

&L
(L

073.

074.

&L
(L

075.

076.

077.

078.

mpxym—-x—-m-xy
(1) ppm (2) xpm
3) pxy 4) pyp

- 073 3583074 323 1 000T F00,BROTEDAYL ST T B3RO0,

5,27, 61,122,213, 340
(1 27 2) 61
(3) 213 (4) 340

8,13, 21, 32,47, 63, 83
(1 21 2) 32
(3) 47 4) 63

- 075 00T 078 AW : 2,003 T0FedF IR ANTHEM 5 32, DO, @oé{—@?i BFIONSE,

2YOK0TT. & ToFeds L ROTISL B0 BIRTYOD 32y TUT Fy 035w
20030 AOFCEF LTTIOIE) TN @omtﬁ@{@i@e@m.

5?% 0BT LTORWNAD
ANTHEM = (1) CPVJGO
(2) NAHTME

(3) ZMGSVN

(4) BNVHHM

NATION = MZGRLM

FLAG = HNCI

SALUTE = ASULET

TAGORE = UAIOUE
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072.

Q. 073 and 074 Directions: Find the odd term from the following.

073.

074.

Q. 075 to 078 Directions: In a certain code language the word ANTHEM is written in four different

075.

076.

077.

078.

mpxym-—-x—-m-xy
() ppm (2) xpm
3) pxy 4 pyp

5,27, 61,122,213, 340
(1) 27 (2) 6l
(3) 213 (4) 340

8, 13,21, 32,47, 63, 83
(1) 21 2) 32
(3) 47 4) 63

code languages. Observe the code language given below and select the correct answer.

Word Code Language
ANTHEM = (1) CPVJGO
(2) NAHTME
(3) ZMGSVN
(4) BNVHHM

NATION = MZGRLM

FLAG = HNCI

SALUTE = ASULET

TAGORE = UAIOUE

Space for Rough Work
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B, 80. 079 3033080 2w : FINT FINYE, 3033 BRONS BosB;1Y 3oIBH0 Bos303motr BTN

079.

080.

081.

203, Rowoq 08,036, rcreR TP WFD PG, oI Bosd, WA
@omdﬁg{ﬁ@nroﬁade;od 300,

52 (98) 37

23 (48) 61

47 (2) 32

1 7 2) 83

3) 97 (4) 84

27 (34) 64
343 (75) 125

8 (2) 512

(1) 28 2) 41
(3) 16 4) 82

5 AFE207 2017, BOONYem08 Tomd 43eed0dne FECITO F08T LRONT’ B IR0 BIRBELO Lot
QB3 BRTD GJeeiodnned AGFFORTD), TMWET L300 03I0E 3000 LIeedosMmIzET:?

(1) doweT (2) RrexmI
(3) Soongwmed (4) wz=mT

3. 30. 082 00T 085 A : F000S FIYE FTOTN IR LFIAY 10T LTI 2

082.

AZ, MN, BY, LO, CX, ?
(1) EV (2) KP
3) JQ 4) GT
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Q. 079 and 080 Directions: In the following questions one number in each row is in bracket. Numbers

079.

080.

081.

outside the bracket have some specific relation with the number inside the bracket.

Find the relation and replace the question mark from the alternatives given below.

52(98) 37
23 (48) 61
47 () 32
(1 79 2) 83
3) 97 (4) 84

27 (34) 64

343 (75) 125

8(?)512

( 28 2) 41

(3) 16 4) 82

Some friends met each other on Tuesday, 5" September 2017. They decided to celebrate

‘Childrens Day’. For the preparation they decided to meet again on the day before ‘Childrens
Day’. On which day they will meet for preparation?

(1)  Sunday (2) Monday

(3)  Tuesday (4) Wednesday

Q. 082 to 085 Directions: Which term will replace the question mark in the given series?

082. AZ,MN,BY, LO, CX,?
(1) EV (2) KP
3) JQ (4) GT
Space for Rough Work
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083.

084.

08s.

086.

RE, PG, MJ, IN, ?
(1) DS
(3) EN

AZY, CXW, EVU, GTS, ?
() JQp

3) IRQ

BXD, EUG, HRJ, ?

(1) KPL

(3) KPJ

2)
(4)

2)
(4)

2)
(4)

ET
DP

HSR
KPO

KQI
KOM

ARWS : WFPEF ST FEoFEonwd cdeen; HOIBE I SOD.

3 qe.-sgé

\ &l

(M

UVZT SFINO

N

X

)

)

3)

X

)

“)

N

3. 80. 087 0073090 2ot : T000T BINYY FRBOFCD VHE HTVEHOD BEEROVT 037 S0
Rowor [rciee @Il BTRT FoLI0T WARTHOD BB TUF0R BENEY, BT

087.

3 DOWOT 3RCHR @%a&@oﬁa 3YT cdmer; HOImE O SO0,

17:41 :: 21:?
(1) 44
3) 46

2) 45
4 42
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083.

084.

08S.

086.

RE, PG, MJ, IN, ?

(1) DS (2) ET
(3) EN (4) DP
AZY, CXW, EVU, GTS, ?

() JQP (2) HSR
(3) IRQ (4) KPO
BXD, EUG, HRIJ, ?

(1) KPL (2) KQI
(3) KPJ (4) KOM

Directions: An incomplete figure is give in the question figure. Select the correct alternative
to complete the figure.

Question figure Answer figures

® N A N N
(1) (2) (3) 4)

Q. 087 to 090 Directions: In the following questions there is a specific relationship between the first

and the second term. The same relationship exists between the third and the fourth
term, which will replace the question mark. Select the correct alternative from the given

alternative.
087. 17:41 :: 21:7?
(1) 44 (2) 45
(3) 46 4) 42
Space for Rough Work
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088. 47:19 :: ?7:26
(1 57 ) 77

3) 56 (4) 46

089. 17:20 :: 68:7?
(1 69 2) 72

3) 70 4 75

090. S5:100 :: 8:?
(1) 120 (2) 504

(3) 80 (4) 448
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088. 47:19 :: ?7:26

(1 57 ) 77

3) 56 (4) 46
089. 17:20 :: 68:7?

(1) 69 2 72

3) 70 4 75
090. S5:100 :: 8:?

(1) 120 (2) 504

3) 80 (4) 448

Space for Rough Work
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